IMAM SADIQ &
ONLINE SEMINARY

Lesson 87

The Pronoun in the ‘ '’

When the derivative ‘ »5’ describes a ‘I4w’ it belongs to, the pronoun is hidden
but when it describes what it does not belong to, the pronoun must get apparent.

Example:
B)b> §ae L)
When the ‘ #5’ describes a ‘luiw’ it does not belong to, the pronoun must get

apparent, especially when it prevents the confusion.

Example:
90 Lo s &
2 B)ld §pee L)

Sibawayh believes that when the derivative ‘3" describes a ‘lwiw’ to which it
belongs, then the apparent pronoun can be its ‘J¢l¢’ or an emphasis of the hidden
pronoun in it; as in ‘¢» 5B 33)”.
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